1

— Channel —

1L

BT3B ENIZk

T B W

L

o ———




NO.1

— Channel —

W —HilE

S




HBZERME (CIP) ¥iE

S — WM BT BTV Gk B /BRI R —
Y. BB ARMARE, 2009.7

ISBN 978-7-5438-5812-1

1.5 O.BK--- WM. XF—FREE—_H—IA
V. G634

Hh B iR A B S CIPBUER B (2009) £5118124%8

MR A WIS (M=)

ESE P

Wi kEM

H R A: ZBHE

BESE: KoM PHSC
EMigit: m %

HR. R1T: BIRARMRM

: http://www.hnppp.com

: RO ERKEIS

: 410005

: BIREFEBE

: BB FERAR
20094F7 A S8 1R SB 1K BN
787x1092 1/16

: 12 '

: 265000

: 1-15000

: ISBN 978-7-5438-5812-1
: 28.807C

H*BHADYDDREEE
SEEERINIERABEE

EHHRi%: 0731-82226732 (B 7 KX P Mk 5 M’rﬁa)



Tl

B

R EHE A CEE R P H R (R YR PGB R K T4 Kk B LA
FH, “BEHE (L)X EAR R - BRI IR B o 00 B (5 8 T 1o 2 B T, B
Urtl SR EMEIR 4, H BRI R S 4 2T &5 BEWT 8 1E % 35 3 T S bRt A R i A
KIERER BT A X BB E A RIEHRIMA T, s BEUTHERCRIE A N 2, IR BIR BB S BT
IR AR ; BRI — RO & 1S B 98, e e — FHRBIL AR, AT =
FRHE— BT ARG IT T IR AR, Ve Bl 8 2 A S SR B 605 o7 X 1 A, FRATTAR B T
RAAR—PUESEEW N EHINLY . ARG U T RKE .

1. BXER,HEIIZ

IA33EA 32 IR, 3L 8 MR, P A BB, M St S4B B R A ST B2 it it
lﬂ%ﬂﬁﬂﬁ%%ﬁiﬁ"&ﬁ‘,%E:ﬁé&%&%ﬁ%—¢ﬁﬁ%%iﬁ%ﬁ%ﬁ%iﬁo EHBEEMUTIL
DI EHE LMW SR SRR S B8 e CE-3E:0)- PR oalAr T ol
BB 36 R AT ] B HEWT IR B s AR BT Z 0 B R SRR ERERENRES

2. &M, HREE

WHMBEM EE T g, B nmt, CESA K, BRI AE, WEE A 3, R B
YA, Al T¥4E TRSERRNIES LN R, AT REEAMIGER /1 892% I
BRAEFNGER, 39 g e,

3. ¥ BMRE, Ll H*®E

A 3058 42 [ 8 % BB U 47 348 Kris Chung i Tushka Bevgen HEAH R, HOTHE, K
AR, 5 T V7 B A B E A REV RG], 5 AR RS SRR

BERRNERRIE FROE S BRE0E REZ A, EH KiEERZIIE,

B OE



————— BN
H %
R ZHEEUT HBERIREI (—) corveererererrereeerieiiiiite ettt e e ieseaeeeeeseaeseee e (1)
E:%‘%Wﬁﬁﬂﬁ@(:) ................................................................................. (4)
B BRI IERIRE () cooeveereererrrrrrereieiiiectette e eeseee s e e veeeeeaar e s e e e (T)
E:ﬁ%‘.[yfﬁﬁMﬁ@( 111 U (10)
E:%i%"ﬁj)ﬁ?ﬂﬁt@( T BT ST (13)
B 3BT AU (55) SR PRSP TN (16)
TR BT SIBEADIRIT (D) cvvenvvrerererrmmrmininettetmuieeeeererarateeeeeereennnaaeessesesmmmnsesesssns (19)
T BT STBIBURIT( J\) »oererereeererrrmnininieteeetnmteeeeeeeeertnneeeeeeesrsnnnnssesseesemn s (22)
TR BT SJBEADUHRTTTL) crevevovrrererrrnrnriereeretiuaeeeeeseranteesseeennnnaaeesseseemeeeeessons (25)
B ZHBUT SIREIDRIT(F) voevmvevrerermmnnniieiiee et e eeee st eeeeeeeeeeeeeese e s e e se s (28)
B HEIBW SJBERIT(J—) evvvvererremrrmrinie et e e e eeeee e e e e e e e e e (31)
B BB BRI () eerervvrrnrmrriiiiiieeeeeeeeeeeee et etee et e e eee e (34)
= 3 T G e OSSR (37)
B BT SIBDREE (FP0) coeeveemrmmrmmmnmii e eer et e (40)
BT IBEURRE (F- L) cevveerrrvrnnrrnrrrrrrireeanareeerereeeereeeeeeneennennsnnnnsmnn s sesnns (43)
B BB FBIIRIT (F5) coovevrerrrmmmmrrmmniiinttie ettt ee e e e eesee s e e eaer e e e e e e e (46)
[t 30 7R e ) S RO (49)
g:;@%%ﬁgﬂﬁ@( ) e (522
B HEB T HBEEREE (F-TL) ecvrrerrrrrrrrrmreriirieeeeianerereeei et seeese e s eee e . (55)
[ 3710 - € YR e o YT UURUUUNRRURRRI (58)
[/ 520y - 75 { m i SO OR U OO (61)
[/ 3207 € 90w (e i JE S U (64)
ﬁ:%%%ﬁﬁﬂﬁ@(:‘f‘z) ........................................................................... (67)
E:ﬁ%%ﬁﬁmﬁﬂ(:—k@) ........................................................................... (70)
E:ﬁ%‘-[yfﬂﬁﬂﬁt@( ety ok 1) RILLITITT St e ittt et e tetetettttttttretnraeannonarenncnanaartsnsanes (73)
B SEEUT A BIUBRET (A7) coevrerererememrntnieeesesnnteeee e e eeeeesee et e e e e (76)
E:%iﬁ%ﬁﬁmm( e o o) IR (79)
B BRI A BEBERE (/) ceeeeeeneens e e et eea e (82)
E:ﬁ%%ﬂﬁﬂﬁ@(:‘l‘ﬂ) ........................................................................... (85)
B BB IBEIIBRRI (=) v veerermmmrnnnnniieeiet e ee e e e s e e et e e oo e (88)
[t LAY - G0 (e o RO PO (91)

%:%%%ﬂﬁ?ﬂﬁtﬂ( e ) SR PSR (94)




SE— N RIBT 1B BT
T

Wr 71 R 3X
BBV FRERRIT(— ) coeerevermerrerermmmmmier ettt ettt et e e e (97)
B BB FIREIRT () ceeeveerrrerrreerneniiettiee ittt et e e e (99)
B HGE ARERUERIT(S0) ceoereeeererrottttrtie ettt et e (102)
B BT SRERLERITIP) covverrrerrennmeeettmmiiitie ettt eeee e e ant e e e araees (105)
}%Z%iﬁlﬁﬁﬁ#ﬂﬁﬁ@( FL) ceeveeceenenessttiniiittiiiiitetnnetitttiieeiieriae e e etaanans RIS (107)
B T HGBEIT REERURIT(FR)  corerrererremrrsersertetiii s ee et rra e e nes (110)
B BEW BRI () croverererrerm it (112)
B BRI SIBRIREI(JL)  orrerrererrere e (115)
B HHET HREBGRIF(JL) --vvveverrererrereerrereeeeietirieiiii e (117)
BB AR () ceerevrrrrerr s (120)
[ NN b= B B w1 (e S R (122)
B BN RS () e e eteriietiietiita ittt retaa ettt stetsacennactnrnennatrrnens (125)
BB R (=) ceeeeerrreereri i (128)
B BB HBERERIBI(FPU) coveeererrerrererreeeneeemimminir s s e e e (130)
B RIE ERERB (A eevrrrrerrerr et (133)
B RIE ERERB(F78) ceerrerererreere i (135)
BB BRI (b)) creerreerrrriii s (138)
B BB IBERIT( /L) ceveerereri it e e (141)
B ZIRIE BRI (L) eveerrrerermrerr e (143)
B HIEW SRR ) oo e (146)
BB BRI T —) v e (149)
B HEEW SRR () ceveererrer e (151)
BB BRI (=) e e (154)
B IR BRI S PO) s (156)
B ZHIEW BRI T FE) corevrereererrrr it e e (159)
BB BB (T 7S) sererrerrrrr s e e (161)
B FHEW AR ( ) s (164)
B BB BRI (T /\) e (167)
B IEUT IARREUREE (L) coreererresres e s (169)
B ZHRIEW AHERERBI( S ) ceeeeerrrrrrrriii e e e n e (172)
BB IR (S —) oot e ss s (174)




W U ()

R R E hBREILE(—)

E—F (£S5 DM;HNHM1.55,%57.5%)

FF &S BAf5, FERAEEH— N, FF69A B C = 4‘@'7‘7’1@ HREAT,
HAFEREAGIEALE , TEFBA S, thAE10 469 BF 7] R @2 57 % 1) B oo D] i T — o)
A, BEAFR B,

1. What’s wrong with the man?

. There is something wrong with his stomach. B. There is something wrong with his eyes.
. There is something wrong with his back.
Where did the man hurt his legs?
. On the road. B. On a tree. C. In a gym.
What is the weather like?
. It is going to rain. B. It is fine. C. It is snowing.
Why do the two speakers want to go to the playground?
. To play football. B. To look for Mike. C. To play basketball. -
What does the woman ask the man to do? '
. To take her to a bus stop. B. To take her to the hospital.
. To call the police.
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Where do the two speakers live?

. In a big city. B. In the countryside. C. In a small town.
Who bought a Christmas tree this year? = - ‘

. The man. B. The woman. C. The man’s mother.
Why can’t the man go to the woman’s house?

. Because he has to go to work. B. Because he has to look after his mother.

O p P > N> S

. Because he has to go to buy a gift for his mother.

WTER 7 BrhbR, B9 F 11 8,

9. Where does the conversation probably take place?

A. In the street. ) B. In a shop. C. In a fast food restaurant.

10. What dessert does the man have at last?

A. Tomato ice cream. B. Strawberry ice cream. C. Chocolate ice cream.

11. If the man gives the woman a 10-dollar note, how much change will he receive?

A. Four dollars and forty-four cents. B. Four dollars and thirty cents.

C. Four dollars and twenty-six cents.

WTSE 8 Brbbkl, FI&SE 12 14 B,

12. When will the concert come to an end?

A. At 10.30 pm. B. At 7:30 pm. | C. At 11.30 pm.
13. How did the woman get a ticket?

A. The man gave her one. B. She bought one by herself.

C. Her husband bought one for her.

14. Who will the woman stay with this evening?

A. Her husband. B. Bob. . C. Her parents.

UTSS 9 BrAbH, EIHE 15 F 16 M,
15. How did the woman get hurt?

A. She fell down the steps. B. She got hurt in the sport.
C. She fell off her bike.
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16. How would the woman probably go to the hospital ?

A. By bike. B. By taxi. C. By bus.

WrsE 10 Bedrkl, 45 17 20 /3,

17. When is the speech made?

A. Before the competition finals. B. After the competition finals.

C. At the competition finals.

18. Who is the woman?

A. She is both a college teacher and a competitor.
B. She is both a college teacher and a judge.

C. She is both a judge and an organizer of the competition.
19. What’ s many competitors’ mistaken belief?
A. Familiar words destroy understanding.

B. Complicated words destroy understanding.

C. Complicated words sound impressive.

20. Which is NOT the woman’ s suggestion?

A. Using “uh”, “er,” or “um” for thinking.

B. Minding your personal appearance.

C. Practicing enough.

Wt 713 RE () U746 10 BAER IRIB TR A SRS 1720 18, B8 At =481,

Tips for the English Speech Competition

Use familiar words ( Complicated words 17 ).

Learn when and how to pause (One gains 18 during these

moments of silence).

Strike the 19 between good pronunciation and fluency.

Pay attention to your 20

Remember practice makes perfect.
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1. Where is the store?

. In Fourth Street. B. In Fifth Street. C. In Third Street.
What is the man’ s nationality?
. Chinese. B. British.

@]

. American.
What does the man mean?

. The bus has already come.

. The bus is late.

. The bus will be on time.
Where does the conversation probably take place?

. At home. B. In the garden. C. In the office.
How does Mike feel?

. Puzzled. B. Satisfied. " C. Worried.
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Why is the man going to New York?
- Because one of his classmates is going to get married.
- Because he is going to meet some very important people there.
. Because he is going to have a party with some friends.

How will the woman go to attend her friend’ s wedding ceremony?

> N 0w o> O

. On a bus. B. In a car. C. On a plane.

WrEE 7 Bedtkl, EIASE 8 E 9,

8. Where does this conversation take place?

A. In a school. B. In a hospital. C. In a library.
9. What’s the cause of Jim’s trouble?

A. He had too little sleep.

B. He ate too much last night.

C. He had too many drinks.

WS 8 Brbbkl, EI 4 10 B 12 /&,

10. What should the man do in order to improve his listening according to the woman?
A. Doing much listening practice. B. Buying a recorder.

C. Watching a lot of TV programmes.

11. What doesn’t the woman advise the man to buy?

A. Some English tapes. B. Some books to go with the tapes.

C. Some English novels.

12. What is the other thing the boy is weak in besides listening?

A. Speaking. B. Writing. C. Reading.

WrEE 9 Brbtkt, EI&5 13 16 |,
13. What are the two speakers talking about?
A. How to celebrate their son’ s birthday.

B. How to spend their weekend.
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C. Where to play on the weekend.
14, What will the two speakers buy" for their son?

A. Some clothes. B. A birthday cake. C. Some model toys.
15. Where will the two speakers go this Saturday?

A. The park. B. The library. C. The zoo.

16. Where will they have lunch this Saturday?

A. In a hotel. B. In a KFC. C. At home.

WrsE 10 Brkikl, BIE5E 17 % 20 &,

17. According to the passage, in China, which can be the best gift you can present to a hostess?
A. A clock. B. Some delicious food. C. Some fruits.

18. What CANNOT be presented as a gift in both China and Germany?

A. 13 flowers. B. A knife. C. A bottle of wine.
19. Where is drinking alcohol forbidden? ‘

A. In Europe. B. In China. C. In the Middle East.

20. Which of the following is TRUE according to the passage?

A. It’ s better not giving a gift than giving an improper one.

B. Don’t give flowers as gifts in Europe.

C. Sharp objects mean courage in China.

W S SRR A < WTER 10 Bkt RABBTIT AR SE U8 1720 B8, B R =48,

Area Offensive gift Meaning ( or Reason)
Germany and Switzerland 17 bad luck
Russia even numbers of flowers funerals
sharp objects 18
clocks attending a dying parent
China
handkerchiefs ‘ 19
odd numbers . separation, loneliness, death
The Middle East 20 being forbidden in the Islamic faith
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1. Where does the conversation take place?

. At the airport. B. At the railway station. C. At a hotel.
What are the two speakers mainly talking about?
. New dictionaries. B. Forms of languages.
. Development of languages.
What can we learn about the woman?
. She will write a report on the play. B. She is too tired to do any experiment.
. She is too busy to go to the theatre with the man.
What does the woman plan to do during the summer?
. She plans to do some reading. B. She plans to do some research.
. She plans to be free.
Why is the man going to the airport?
. To meet Catherine. B. To catch Flight 185. C. To see Catherine off.
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6. What does the girl want to learn in the group?
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A. Acting. B. Singing. C. Dancing.
7. What does the girl have to do if she wants to join the group?
A. Ask her parents’ permission. : B. Ask her head teacher’ s permission.

C. Ask Mrs Johnson’ s permission.

WSS 7 Beb b, BISE 8 = 11 M,
8. Who is Mr Ford?
A. Laura’s husband. B. Laura’s friend. C. Laura’s boss.

9. Why doesn’t Mr Ford come and see Laura today?

A. Because he has to meet a customer. B. Because he has to attend a meeting.
C. Because he has to post some letters.

10. Who will come and see Laura tomorrow?

A. Only Mr Ford. B. Only Paul. C. Paul and Mr Ford.

11. What is the possible relationship between the two speakers?

A. Neighbors. B. Workmates. * C. Patient and doctor.

WrEE 8 Bk, EIES 12 = 13 @,

12. What kind of room does the man want?

A. A single room. ’ B. A double room with two beds.
C. A double room with one bed.

13. How much will the man have to pay?

A. 320 dollars. B. 400 dollars. C. 300 dollars.

WrsR 9 Bedhll, S 14 E 16 [,

14. Which of the following statements is TRUE according to the dialogue?
A. Meat is much more expensive than before.

B. The man can earn more money than before.

C. The woman is good at cooking and house keeping.

15. What does the woman advise the man to do?

A. To stop smoking and drinking.

B. To find an extra job.
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C. To do more exercise.
16. What does the man tell the woman to do?
A. To buy more meat.

B. To find a job.
C. To stay home.

Wr%E 10 Britk, [BI55E 17 % 20 /&,

17. Whom is the talk aimed at?

A. Students who are now studying abroad. B. Students who are going to study abroad.
C. Teachers who are teaching foreign students.

18. When and where is an international travel insurance policy usually bought?

A. In your home country before you go abroad.

B. In your home country after you go abroad.

C. In the foreign country after you go abroad.

19. Which type of insurance can pay part of the medical cost for you at the time of service?
A. International travel insurance. » B. Student health insurance.

C. Neither.

20. What’ s the speaker’ s suggestion?

A. To get health insurance as soon as you’ re thinking about going abroad.

B. To plan on getting health insurance before you go abroad.

C. To get health insurance after you are ill abroad.

Wr i G W5 10 Bepbbl  ARIBATIR AT RS 17-20 B, B Rl =4,

Students’ Health Insurance

Aim | to protect you from 17

provide doctors who may speak 18

international travel insurance
pay all your medical expenses by yourself first

Types

19 pay only a certain part of the medical cost by yourself at

the time of service

You should plan to get health insurance before .20 .
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Why doesn’t Kate need the man’s help?

. She has got four men to help her.
. There are not many things to move.

. She can do it herself.

How much is a ticket for a night flight to New York without discount?
$400. B. $450. C. $500.
Where does the conversation probably take place?

. At a teahouse. B. In an office. C. At home.

Why is the woman not in the mood?

. Because the programme is not interesting.

. Because she has some work to do.

Because she is asked to turn off the TV.
What are the two speakers talking about?

. The oral English test.
. English study.

. The charaéter of the man.
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6. Where does the conversation take place?
. In the street. B. In the bank. C. In the shopping Imall.
Why does the woman want to go there?
- To get some money. B. To return some money. C. To take back her card.
What does the man do for the woman at last?

- To show her where she wants to go. B. To draw a map for her.

OB ® N

To lend her some money.

WigE 7 BebbRL, &S 9 11 4,

9. What is the woman?

A. An air hostess. B. A waitress. C. A nurse.

10. What does the man want the woman to do?

A. To tell him her name.  B. To show him how to untie the seat belt.

C. To bring him some drinks.

11. Which of the following statements is TRUE about the man?

A. He knows the woman well. B. He often travels by air.

C. 1t’ s the first time for him to take a plane.

Wit 8 Brbbkl, M55 12 2 14 0,

12. Where does the conversation most probably take place?

A. At a TV shop. B. At the woman’s house.C. At the man’s house.

13. What do we know about the woman?

A. She doesn’t often watch TV. B. TV is not important to her.
C. She likes watching TV very much.

14. What can we know from the conversation?

A. The man advises the woman to buy a new TV set.




